1. a=-12", ©+2a 9 % Fotofeh

5 e



to] 25 a, x O] A

)

—x2-8x-5°f o

4]

=t

2.

® 3 B3 4 @ 5 B 6

@D 2



H

o

(5]
27

© x> +x-4
©)

2x—3

S +1

24

®




©) §x2, xy, x2y

&)
= o
(aw]
o=
<t -
. BN
= -
0 S
Q ©
= =
S 071
JR
[a]
S N
~ AN
[}
S -
<f [ | <
© @



Ton

)
5x — 3y + 51 01]/‘-1

@4

=

5.

®7



x+3=2x+2

gl
oF

ol
ca

2x+ 2

x+3,94

® 4 .



7. OS<H7]>oA A BF I2H?
H7

=71
QD 3x+2=2x+3 © 2(x+3)=6+2x
® 2x+3x+4=>5x+4 @ 3(x-1)=3x-1

ODOeo,6e 00,0 0,6 ®o e 60,6



@ 1 3 2

3 0



Ae e ol -] g0l o §d 32 o A7p?

H(:]-?g/x

27

4

(@ _ @

&



6x—-5=-x+4

6x+x=4+0

@ 4

3 5



11. ©]gole} 83= AdA B2 7H=e] 22t A% 3k, A% 4km &
Hojzhey. 577} vjgolurh 1 A7 WA EAHCET ¢ uf, A o)A
B7HA 9] A& Fatolat,

a = km



12.

oA =MB7HA] 7h=d W= A% 5 km 2 ZojA 7kl RIS = 30
B Fofl ZAFAAE EFA A1 10 km 2 7 F AR FA] o] Ao
TR i), Holl A EA @R o] AR5 oheiet

B e km



ol x o] ghol -3 ),

S

o

® 4

@ 3

@D -5



o|J
™
ol
ofg

el
e
o
bl

~

J
%

oF
B

ﬁo
el

g

@ B(4,0)
® E(-3,1)

@® A(3,4)
@ D(-2,1)



15. g2 S y=4x 9 aajzs 12

@

9

@



® xy = 80x

@ y=-80x

80x

@y

® y = 80x?



o

ool
Hr
A

el
el
o

® A 2 AW A| 4 BEE A,

® x<0d9 ], y>0o0|t}



HA Bt

S

A 3em# LA

=]
L

FEI Y 1

S

ot

.

ul



NEgE

St a Y

@ 2a¥

2a
— ¥
@ (500) =

@ (500 —2a) ¥

® (500 4 2q2) ¥

@ (1000 - a) ¢



5

20. SPH x°FE A4 2 (x-32)°C olck S 77°F £ 44 3 (09

=7

@D 20°C ® 22°C ® 24°C @ 25°C ® 28°C



£

21. o=

o

Hog g thehd 217

o

4711000 LolA a% EQ1H 7H4

@ (1000 -a) ¥ @ (1000 - 5a) &
® (1000 - 10a) ¥ @ (1000 - 100a) ¥

B —a 9



Al 7he] 3 9] BjZ=7} ot} 7P 2 2 gE =

2, Al 4 F Vg A 48 Y

94

@12 315 @18 6 21

2



o T () = 2045, g(x) =3x—1 0 Hot] f(1) =a, g(5) =b
Ao, a+b o] & ool

5

L



W8 ol
— ,_ma

olJ
L

&
7

3 0



25. x9gkol -3, -2,-1,1,23¢ ,?}#y:_ggq;lgﬂg_t_?

@ @
YA
[0) T
® ©
yA
: O RN

yA




